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1. Read the following lines and answer the question.
keeping me safe from harm.
I would look up into your eyes,
and all the love I would see.
These lines are taken from
A. Special Hero B. The Spider and the Fly
C. On Killing a Tree D. The Stick-together Families

2. Hearing the wheel’s kick, hearing the wind’s song and feeling the white sail’s shaking are
the pleasures of.....

A. Raining B. Driving

C. Trekking D. Sailing

3. Read the following lines and answer the question.
It isn’t an instantaneous thing

Born of despair with a sudden spring

What does ‘it’ refer to?

A. Lose B. Born

C. Fight D. Courage

4. ... was made Poet Laureate of Michigan, the only poet to have been awarded the title.
A. Nadia Bush B. Edgar Albert Guest

C. Gieve Patel D. William Blake

5. A person who travels from place to place on foot in search of work or as a beggar is called

as.....

A. Charge B. Tramp

C. Lumping D. Brambles

6. ....is a small brown animal similar to a frog.

A. Toad B. Butterfly

C. Fish D. Lizard

7. William Makepeace Thackeray was one of the great novelists of the ......... Victorian Age.
A. French B. American

C. Russian D. English

8. Who was Dr. Salim Ali?
A. Ornithologist B. Sericulturist
C. Space scientist D. Geologist

9. Choose the correct Synonym of the underlined word from the options given below :
They reflect the munificence of the Cholas.

A. paucity B. miserlines

C. atrocity D. generosity

10.1dentify the simple sentence from the given options :

A. I promised that I will do my best B. I promised to do my best

C. I'will do my best and I promised it D. I promised so that I will do my best
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11.Match the following phrases/idioms given under Column A with their meanings under
Column B and select the correct answer from the codes given below :

Column A Column B
(a) to cash in on 1. tell me what you are thinking about
(b) as good as gold 2. a very slim chance
(c) a chance in a million 3. to take advantage
(d) a penny for your thoughts 4. very well behaved
@ ® © @
A. 3 4 2 1
B. 3 1 4 2
C. 4 1 2 3
D. 2 4 3 1

12.Choose the American English word for ‘Pavement’
A. Elevator B. Sidewalk
C. Railroad D. Subway

13.Find the figure of speech.

We can pull and haul and push and lift and drive.

A. Personification B. Metaphor

C. Imagery D. Connotation

14.In American English the word “POST’ means
A. Letter B. Mail
C. Inland Letter D. Envelope

15.Choose the correct antonyms for the underlined word. Knowledge is an exacting mistress.
A. Contented B. Demanding
C. Insecure D. Surplussing

16.Match the phrasal verbs given in Column A with their meanings given in Column B.

Column A Column B
(a) get on 1. keep for future use
(b) give in 2. continue to resist
(c) stand out 3. yield
(d) lay by 4. cope with

@ ©® © @

A. 3 2 4 1
B. 2 1 3 4
C. 4 3 2 1
D. 1 4 3 2

17.Identify the complex sentence from the following
A. Anu was poor but she stood first in the exam

B. Anu was poor still she stood first in the exam

C. Though Anu was poor, she stood first in the exam
D. Despite her poverty Anu stood first in the exam
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18.Choose the correct question tag.

Everyone is present in the meeting

A. aren’t they? B. are they?
C.isn’tit? D.isit?

19.Choose the American English equivalent of the word “Goods train”.
A. Carriage train B. Freight train
C. Baggage train D. Luggage train

20.When I was a baby, you would hold me in your arms.
You refers to whom

A. Mother B. Father

C. Sister D. Brother
21.0ne must have a of ...... brighter skies to make life worthwhile.
A. Gleam B. Courage
C. Glimpse D. Grace

22.“A Thing of Beauty” is an excerpt from his poem
A. Dynion: A Poetic Adventure B. Endymion: A Poetic Romance
C. A Pole star : A Poetic Romance D. A dim light: A Poetic Action

23.William Shakespeare invented over common words.
A.1700 B. 100
C. 700 D. 2700

24.Compare things alike is
A. Metaphor B. Simile
C. Irony D. Imagery

25.The computer actually gobbled a .................
A. Worm B. Net
C. File D. OS

26.Choose the option that contains the right sequence of articles :

My manager is multifaceted personality. He was elected chairman of
our board. I am sure he will be best chairman, for he is honest
worker.

A. a, the, an, the B. a, no article, the, an

C. an, no article, a, the D. no article, an, the, a

27.Give the suitable order of articles in the blanks of the given passage.
Write the correct code given below :

old man said to his daughter, “If servant finds any money on
floor when she cleans room, it is mine.”
A. The, a, the, a B. An, the, a, a
C. An, the, a, the D. An, the, the, the
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28.Which of the following phrasal verbs suits the given sentence?
your bad habits.
A. get back B. give in
C. giveup D. get on
29.Choose the correct question tag for the following statement.
Jordi attends the class regularly, ?
A.did he B. didn’t he
C. does he D. doesn’t he
30.Choose the correct question tag to fill in the blanks.
They were busy packing their suitcases ?
A. Were they? B. Don't they?
C. Weren't they? D. Won't they?
31.Choose correct prepositions from the options given :
....... the cupboard, very ....... the wall, there is a narrow gap, ....... which a few charts .have been
kept.
A. into, behind, near B. behind, near, into
C. into, near, behind D. near, behind, into
32.Pick out the incorrect sentence from the following
A. Food must be chewed well for easy digestion
B. Televison plays a vital role in spreading news
C. Ambitious people work hard and succeed in life
D. He carried a lot of luggages to Delhi
33.Choose the correct sentence which has no error.
A. Geetha’s father is a MLA B. Geetha’s father is the MLA
C. Geetha’s father is an MLA D. Geetha’s father is MLA

34.Choose the correct question tag for the following statement.

The conductor will not give you change for Rs. 10, ?
A. Does he B. Will he
C. Will not he D. Did he

35.Select the correct question tag.
I haven’t answered your question?

A.Had I? B. Haven't I?
C.HaveI? D. Has
36.Fill in the blank with correct question tag:

The boy did not write the examination — — — —?

A. didn’t he? B. did he?

C. shall he? D.isn’t he?

37.Find the figure of speech.

She knows how to thaw you, saw you - so beware!

A. Imagery B. Alliteration
C. Irony D. Assonance
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38.Select the segment of the sentence that contains a grammatical error. If there is no error,

mark 'No error'.

Each of the survivors of the Tsunami have been offered free psychological consultation to ease

their trauma, by some of the top consultants.

to ease their trauma, by some of the top consultants
offered free psychological consultation

No error

Each of the survivors of the Tsunami have been

OSN=Ep»

39.1n the following questions, one part of the sentence may have an error. Find out which part
of the sentence has an error and click the option corresponding to it. If the sentence is free

from error, click the “No Error’ option.

Encouraging healthy competition(P)/ between the students of the school(Q)/ was one of the

objectives of the annual sports day(R)/ No error (S).
A.P B.Q
C.R D.S

(4

40.Select the correct plural form of the following word “Alumnus”.

A. Alumni B. Alumnae
C. Alumna D. Alumus
471.Robert Frost born in

A: 1963 B: 1964

C: 1874 D: 1875

42.Pick out the correct words from the options given below :
He gave me notes.

A. a ten five rupee B. ten five rupees
C. aten five rupee’s D. ten five rupee

43.In the morning glad I see
My foe outstretched beneath the tree

Foe means......
A. Friend B. Relation
C. Enemy D. Wife

44.Find the figure of speech.
Remember, no men are strange, no countries foreign
Remember, no men are foreign, and no countries strange.

A. Irony B. Repetition

C. Simile D. Imagery
45.Who is the author of Forensic Medicine?

A. Robert Frost B. Gieve Patel

C. Ruskin Bond D. William Henry
46.Find out the word that has got a wrong prefix

A. Invincible B. Indelible

C. Malnourished D. Unaccessible
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47.The way into my parlour is up a winding stair,
And I've many curious things to show when you are there.”
These lines are taken from the poem

A. Stopping by Woods on a Snowy Evening B. A Poison Tree
C. Old Man River D. The Spider and the Fly.
48.Match the correct suffix with the root words.
1. let a. popular
2. ling b. sensible
3. ity c. book
4.ise d. duck
Codes:
A b c d
A 4 3 2 1
B. 4 3 1 2
C. 1 2 4 3
D. 3 4 1 2

49.1dentify the Participle ‘Swimming is a Good Exercise. Ramu saw a man running along the
road to catch the bus’

A. to catch B. swimming

C. running D. the bus

50.1dentify the Gerund ‘Swimming is a Good Exercise. Ramu saw a man running along the
road to catch the bus’

A. Swimming B. Saw

C. Running D. aman

5T.I I.....cu.... the Principal of my school. I would abolish examinations.
A.am B. was

C. were D. will be

52.Here......... Laika into space.
A. will go B. go
C. went D. goes

53.Choose the correct blended word for the following

Helicopter + Airport

A. Helair B. Heliport

C. Helicopair D. Copterport

54.”Binary+digit’ the blended form of this word is....

A. bidigit B. binarit

C. bit D. binary digit
55.Which one of the following compound-nouns is wrong?

A. Coat - of - mails B. Governors - general
C. Runners - up D. Grown - ups
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56.Find the figure of speech.

Hells of fire
A. Simile B. Assonance
C. Metaphor D. Epithet

57.Match the patterns given under Column A with the compound words under Column B and
select the answer from the codes given below:

Column A Column B
a) Verb+ Noun 1) Dining table
b) Gerund + Noun 2) Newspaper
¢) Noun+Noun 3) Sunrise
d) Noun+ Verb 4) Playmate

A.a-4,b-1, c-2,d-3
B. a-3, b4, c-1, d-2
C.a-1, b-2, c-3,d-4
D. a-2, b-3, ¢4, d-1

58.Repetition of consonant sounds at the beginning of words is
A. Alliteration B. Assonance
C. Consonance D. Simile

59.Caroline Ann Bowles was born in ............

A.1758 B. 1768

C.1778 D. 1786

60.The comet travels through the ......, making a lot of noise and causing damage.
A. Water B. Sun

C. Star D. Sky

61.The rich and the poor folks imagine themselves to be.....

A. Brave B. Hero

C. Wise D. Joker

62.Liam O’Flaherty was a founding member of the Communist Party of.....
A. Ireland B. British

C. America D. India

63.Find the figure of speech.
The summer of life she’s ready to see in spring.

A. Alliteration B. Epithet

C. Anaphora D. Homophone
64.Which of the following works is a supplementary?

A.No Men Are Foreign B. The Attic

C. The Tempest D. The Dying Detective

65.Find out the figure of speech employed in the following line :
The bleeding bark will heal

A. Personification B. Metaphor
C. Anaphora D. Simile
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66.Franz was sorry for having not learned properly.
A. French B. Hindi
C. Sanskrit D. German

67.Mary Mapes Dodge was best known for her novel

A. Hans Brinker B. Tempest
C. The Cherry tree D. Nicholas
68.Joseph Bell was born in

A. 1847 B. 1837

C. 1857 D. 1867

69.1dentify the past perfect tense from the options given below:
A. They came immediately B. The rain had stopped
C. Rajesh entered the school D. We called them back

70.Choose the appropriate Passive Voice for the following sentence :
They were carrying the injured player off the field.

A. They carried the injured player off the field

B. The injured player was being carried off the field by them.

C. The injured player carried them off the field

D. The field was being carried by them for the players

71.Pick out the sentence which is in active voice.
A. He is loved by all B. The field is ploughed
C. The thief was caught D. The man cut down the tree

72.What is the name of the episode on Abraham Lincoln in the book

“The war years Volume II1”?

A. The comforts you have is the one you live B. The money you spend is the one you live
C. The happiness you have is the one you live D. The legacy you leave is the one you

73.1dentify the correct sentence for the pattern SVIO DO A?
A. She prepared me coffee quickly

B. She walked with her mother slowly

C. Mani shouted in the hall loudly

D. I shall meet you at the railway the next day

74.Find out the odd word
A. lovely B. lovingly
C. affectionately D. sincerely

75.1dentify the correct degree:

Meenakshi Amman temple is one of the most famous temples

A. Comparative degree B. Positive degree
C. Superlative degree D. None

10
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76.Who accompanied Kalpana Chawla to the flight school?

A. Father B. Brother

C. Husband D. Friend

77 .Who was Helen Keller?

A. Paraolympian sports star B. A reformer

C. Mentally challenged D. Weak flesh and willing spirit
78.”Beni Madhav Das’ was the guru of

A. Helen Keller B. Abraham Lincoln
C. Netaji Subash Chandra Bose D. Gandhiji

79.“If non-violence is the law of our being, the future is with women”.
Who said this?

A. Abraham Lincoln B. Gandhiji

C. Helen Keller D. Nehru

80.What is the name the adopted son of Lakshmibai?
A. Damodar Rao B. Anand Rao
C. Ganapat Rao D. Gangadhar Rao

81.Which of the following statement is/are true about Jawaharlal Nehru?
A. He insisted on the secular and liberalist approach

B. He imparted modern values and thoughts.

C. He encouraged India’s industrialisation.

D. All the above are correct

82.How many years did Mandela was served in prison?
A. 23 years B. 25 years
C. 27 years D. 30 years

83.1dentify the rhyme scheme of the given lines

Let me but live my life from year to year,

With forward face and unreluctant soul;

Not hurrying to, nor turning from the goal;

Not mourning for the things that disappear
A. ABBA B. AABB
C. ABBB D. AAAB

84.Find the figure of speech.
Greater than the people of the Kings
A. Simile B. Metaphor C. Anaphora D. Alliteration

85.Who served as a professor of English literature at Princeton University between 1899 and
1923?

A. Henry Van Dyke B. Oscar Wilde

C. Ruskin Bond D. William Henry

86.Rudyard Kipling returned to India in......
A. 1885 B. 1875 C. 1895 D. 1882
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87.Consider the following statements regarding Rakhi Nariani Shrike.
I.  Rakhi Nariani Shirke is an academician with a passion for writing poems as a medium of
self expression.
II.  Sheis a post graduate, with a Bachelor’s degree in Education.
Which of the above statement(s) is/ are correct?
A.Tonly B. II only
C. Neither I nor II D. BothIand II

88.The Ant and the Cricket was Adapted from fables.

A. Aesop’s B. Ruskin Bond'’s

C. Robert Frost’s D. Thomas Hardy’s

89.Kirkup wrote his first book of poetry, The Drowned Sailor at the Downs, which was
published in

A. 1937 B. 1947

C. 1927 D. 1917

90.1t sat alone.

What happened there is still today unknown. It is a very mysterious place,

And inside you can tell it has a ton of space, But at the same time, it is bare to the bone.
What does ‘It” refer to?
A. Mysterious person B. Mysterious house
C. Mysterious money D. Mysterious King

91.Consider the following statements regarding Mary Mapes Dodge :
I. She was the recognized leader in juvenile literature for almost a third of the nineteenth
century.
II. Dodge conducted St. Nicholas for more than thirty years, and it became one of the most
successful magazines for children.
III. She was able to persuade many of the great writers of the world to contribute to her
children’s magazine Mark Twain, Louisa May Alcott, Robert Louis Stevenson, Tennyson etc.
Which of the above statement(s) is/are correct?
A.1& Il only B. II & III only
C.I & III only D. All of these

92.Consider the following statements regarding “The Tempest”:
I. The play “The Tempest” was written between 1610 and 1611.
II. Many critics and historians believe it to be one of the last plays of William Shakespeare.
Which of the above statement(s) is/are correct?
A.Tonly B. II only
C. Neither I nor II D. BothIand II

93.The young seagull was alone on his ....

A. Ledge B. Devour
C. Herring D. Cackle
94.Alphonse Daudet was born in

A. 1830 B. 1850

C. 1860 D. 1840

12
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95.The author of Stories of Sherlock Holmes and The Lost World was...
A. Sir Arthur Ignatius Conan Doyle B. Smith
C. Watson D. Sherlock Holmes

96.1n the prose My Reminiscence The author speaks about the river
A. Ganges B. Cauvery
C. Indus D. Brahmaputra

97.In the prose The Nose-Jewel The diamond jewel was lying in the....

A. Corner B. Family room
C. Basket D. Muck heap
98.Gitanjali was published in ....

A.1914 B. 1912

C.1910 D. 1916

Listen to the story and answer the questions given below

>
>
>

>

>
>
>

“Something is very wrong,” says the detective.

“I know!” says Ms. Gervis. “It is wrong that someone has stolen from me!”

The detective looks around Ms. Gervis’ apartment. “That is not what I am talking about,
ma’am. What is wrong is that I do not understand how the robber got in and out.”

Ms. Gervis and the detective stand in silence. Ms. Gervis’ eyes are full of tears. Her hands
are shaking.

“The robber did not come through the window,” says the detective. “These windows have
not been opened or shut in months.”

The detective looks at the fireplace. “The robber did not squeeze down here.”

The detective walks to the front door. He examines the latch. “And since there are no marks
or scratches, the robber definitely did not try to break the lock.”

“I have no idea how he did it,” says a bothered Ms. Gervis. “It is a big mystery.”

“And you say the robber stole nothing else?” asks the detective. “No money, no jewelry, no
crystal?”

“That’s right, detective. He took only what was important to me,” Ms. Gervis says with a
sigh. “There is only one thing I can do now.”

“And what is that?” the detective asks with surprise.

“I will stop baking cakes,” Ms. Gervis says. “They are mine to give away. They are not for
someone to steal.”

“You can’t do that!” says the detective with alarm. “Who will bake those delicious cakes?”
“I am sorry. I do not know,” says Ms. Gervis.

“I must solve this case immediately!” says the detective.

99.Where does this story take place?

A.in a bakery B. at the police station

C. in Ms. Gervis” house D. in Ms. Gervis” apartment

100. Near the beginning of the story, “Ms. Gervis’ eyes are full of tears. Her hands are
shaking.”

How does Ms. Gervis probably feel?

A. She is upset. B. She is tired.

C. She is hungry. D. She is confused

13
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101. NITI o8wre®er g, SDG @pHwur @eibbeiv 2020-21m11 QUTRISSHIDL 1960 HIODHT(H

Bemeouiev o _6itengi.

A. wpHe0
C. apsimreug

B. @rewr_meugi
D. presmeug

According to NITI aayog , Tamilnadu stands position with respect to SDG India Index

2020-21
A. First
C. Third

102.  &0pHT 1960 BT6G OQUiu HIENHMBAPBHHISET o _6iT6Imenr

1. QFctement, 6T600TGTNTI]
2. &TL_BLU6TeN, HTHHIBESIQ
3. LA, GH6NFF60
4. umbuedt OMBEXID ITEIGHTEHBLD
A. 1 omgib 2 sfluwirerene
B. 1 wmmib 3 sfwirerene
C. 1 oppib 4 sfluwrerensu
D. 2 wppid 4 sfluirerensu
Tamil Nadu has four major ports at
1. Chennai, Ennore
2. Kattupalli , Tuticorin
3. Cuddalore, Colachel
4. Pamban and Valinokkam
A. 1 and 2 are correct
B. 1 and 3 are correct
C. 1 and 4 are correct
D. 2 and 4 are correct

B. Second
D, fourth

103. HOPETH QEHESmMHS 26 L FFHEH HILID eIB OHTLHIGLILL L GI?
Tamil Nadu Integrated Nutrition Programme was started in the year?

A. 1980
B. 1975
C. 1955
D. 1985

104. eraumeneaumBfiev 61l Ffluimeng?

1. usmad SraurmissT @eFlayoma’ s GwiBiiwiev-CauHuiulsy Gauwsvapsnmenwt GmG®TsTS 66T,
@s60r epsvld iemer HFID GaFIomIGeTeN GHTEGHUMU RUibed @orll AMBEN6EVLT LILIGTLIH SIS 6TN360.

2. @m&Huiev, uduiev 2 6iten Dieweisd 2 UlflerhiseEnd ABBNIGHTS Gfw @eflenuwl FTihHal6Teng.

3. @afldBsidens Gauiud sSrauymiesT Giw @eafulsd @mhal UBBMsLL LWSTLUGSHHINEH LIOUT6L

QUTLDEIE  SHQLILIEHL WITEGID.

4. @eflsCsjhbend @rewi®  HTTENIHIGEHHDHTH

pHHWIDTRIE: SBFH  Uouled 2 616 DneHGHI

o _ani6)B6ellel (IPHETEMID USTTIDTGHID. QHl LUFNF SHToMIhRIGST AP6svlD 6UeTIDEITL 60HFHEVL <, derIegeneot

GeueiuiL 2 56 Sl
A. 1&f, 2,34 s6um
B. 2571,3,4 s0um
C. 351,24 s6upl
D. 1,2,3,4 51
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Which among the following is correct?

1.

2.
3.
4.

SN=Ep»

105.

Green plants carry out “photosynthesis’, a physico-chemical process by which they use light
energy to drive the synthesis of organic compounds.

Ultimately, all living forms on earth depend on sunlight for energy.

The use of energy from sunlight by plants doing photosynthesis is the basis of life on earth.
Photosynthesis is important due to two reasons: it is the primary source of all food on
earth. It also helps in release of oxygen into the atmosphere by green plants

11is correct, 2,3,4 are wrong
2is correct 1,3,4 are wrong
3 is correct 1,2,4 are wrong
1,2,3,4 are correct

@@ zoonosis (zoonotic GpmiI i6V6VFH ZOONOSES -LGIMID) 6lUFH @ OBHTHH CHTWTGD, B!

elev@ BN 0BhH WNBHFHEHHE (DVevd WaISFEILIOmbhS kG aEndaE) Semiae HenL G
uyey®mgl. Leiieumeuseumnilev eg>Ceurmigod euend GHTUIGSIT sT6n6eu?
1. QenmenvBLreno@HT&Is1v

2. QarapBmmiil
3. 195118 Flur
4. Griienv

5. auflwr&esio

SNnZp»

1,2,3,4,5

1,4 w1 B6w
1,4,5 w1 H6w
2,3,4,5 1o1_B6w

A zoonosis (zoonotic disease or zoonoses -plural) is an infectious disease that is transmitted

between species from animals to humans (or from humans to animals). Which among the

following are zoonotic type of diseases?

1. Blastomycosis

2. Leprosy

3. Diphtheria
4. Rabies

5. Amoebiasis

OSNn=p»

106.

1,2,3,4,5
1,4 only
1,4,5 only
2,3,4,5 only

LeraupeueauBfled 6% CFWIBen®d WMmPHE UWTLBHSHLILGDMBSHI?

1. Geusiterl BwiTemL (B

2.2 60f uail BieVeVGH HIL HTTUT DL AHMFDH

3. Qeusitarl empL_ G

A. 1 wppd 3 w1 HGW

B. 1 wmpo 2 o H6w
C. 123
D. 1w 6w
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Which of the following is used for artificial rain?

1. Silver iodide

2. Dry ice or Solid Carbon Dioxide

3. Silver nitrate
A. 1and 3 only
B. 1and 2 only
C. 1,23
D. 1 only
107. ueidsl1gulev BLLLUGH SHiged, efOemeiiocv
A. SpHaD AHBID B. 2 _gmiiey oi®sib
C. 2wdsi0 G®U D. 2 _gmiie) @emme)
It is difficult to walk on ice bar because
A. Pressure is high B. Friction is high
C. Pressure is low D. Friction is low
108. wliguieo I o rter uluwesr II o Leér OUIHSHSH, U RWESBEHEGHD 6L CeETHHSILL (Beiem

GRuibsmenl LWTLGSHS Fflmrer uHmeod BHihHOHHEHHM]ID:

uiguieo I uiguiev II

a. @fuedr 1. @ramwen e1H\jerleneot
b. @flw 18siisevid 2. SigmIBHBHM Renenrey 615 eener
C. FW SId6vd HIFL 16T 3. 1060IBTHE HT6E0IL_6D
d. g9 GxenGriLj 4. @6l MBELTS 1OGIFTFID
abcd

A. 3241

B. 1324

C. 2431

D. 2413

Match List I with List IT and select the correct answer using the codes given below the lists:
List I List II
a. Sun 1. Chemical reaction
b. Solar cell 2. Nuclear fusion reaction
c. Lead acid accumulators 3. Electromagnetic induction
d. AC generator 4. Light energy into electricity
abcd

A. 3241

B. 1324

C. 2431

D. 2413

109. yell sesrewily QFwmemaddBsmst EOS-04, Guyeufi 14, 2022 aoeim nfanfil@sm Lrellso o eiten

SHAR, 5% 69 sHeairen elsiOeuai eniowihHembdl 960 GEULILIL L .

Earth Observation Satellite EOS-04, on February 14, 2022 from Satish Dhawan Space Centre,

SHAR, Sriharikota was launched by _____
A. PSLV C-51
B. PSLV C-52
C. PSLV C-53
D. PSLC C-54
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110. @hHwmelledr 196D K60 6T60EMEVE6TEY 61GHI FRWITEHL CQUT[HHSHeMN60emev?

1. @bHwr-Seonm : I0&IBamTen GBI
2. @bHWIT-UTEEGT 60 gl &erflel emevedt
3. @hHWIT-UTEeGT6d D QLD UT6VLD

4. QbHUIT-G60mhIeND 1 F) B

A. 1,234

B. 3,4 w1 6w

C. 3w _B6w

D. 4 1o B6w

Which of the following Land borders of India are not correctly matched?
1. India-china : McMahon Line
2. India-Pakistan : Radcliffe Line

3. India-Pakistan : Adam's bridge
4. India-Srilanka : Sir Creek

A. 1,234

B. 3,4 only

C. 3 only

D. 4 only

111. Neraumid Fnmpideiey 61g Fflulevsv?

A. 8bg BH MHBH6UTEIe 1eMeVUTeL 2 6itern GUTH) @ uslILUTENBUIIHHSHI 2 HUTBBS
B. Gxrsé BieipFs smynd My SiemohIHI6T6NI

C. warrraggrmelsy o siten GeoranmjGeud, BhHUITelsv o 66 6nfilosnsy - LsTemD 6l
D. @psHuwl ugHuisv §bgs pHulsr Hemb 709 H.16

Which among the following statement is not correct?

A. The Indus river originates from the Bokhar Chu glacier in Mount Kailash
B. The Jog fall is located on the river saramati

C. Lonarlake in Maharashtra is volcanic - crater lake in India

D. length of Indus river in Indian Territory is 709 km

112. ey o1& SHGUOY wLBBILD SLEUUTG FLLHTH, RoJFsed STBH  OTSFUGSHSHID  6ler
QUM TN BLILIL_ (B6TT6N g ?

A. wra gL 1981 9fley 2(a) B. ora gL 1986 Wfley 2(a)
C. wrs Lo 2000 Wfiey 3(19) D. wors gLib 2001 Gfley 3(19)
In which Prevention and Control of Pollution Act, the noise is defined as Air Pollutant?
A. Pollution Act 1981 Section 2(a) B. Pollution Act 1986 Section 2(a)
C. Pollution Act 2000 Section 3(b) D. Pollution Act 2001 Section 3(b)
113. ospammiss Fuwiu’ L @ kismern QUTHEGSI:
a. fbs 1. uenmeurel
b. rregeivgment 2. Bam 198
C. LEhaLl 3. &6l urhigen
d. emfluirenm 4. epumy
abcd
A. 4321
B. 2341
C. 3412
D. 4123
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Match the sites excavated:
a. Sind 1. Banawali
b. Rajasthan 2. Kot Diji
c. Punjab 3. Kali Bangan
d. Haryana 4. Rupar
abcd
A.4321
B.2341
C.3412
D.4123

114. e sf?

1. '@bHw OpLGuTeiwsi stedrml 1lFueOTE SPUWILGID FWHHT GUST

2. "GumiiBurev" SITFMmBHE cuemIGHHID CFMISSHID @@ aUgaID RVHIONPTEY BPAPSHILBSHSLILL L S

3. ~L98ymeiv  egm  GIbend  eleusTw  CETHEHSHHBHTE  Wpsweiuiey  @mhbal  aflery  ewswy 150
EMIDEVBETHHE BTELEUTENU SIGHIDHSHIT] .

4. 5.9 1398 @ev enmepi @bhHwredsr 15 UL CUIBHHCUTHI, CL6ved FisvamTen Gsmflulsh (pHLgI

5. @hHwmeley HIHBHW L Fulehl 2_6RIeNIDWITRT BBIGUsT HFJT-2_&H-FH6il (IPBHIDGHI QT SLEUT

1,2 sflurenenen 3,4,5 Heumranene

1,3 sflurenenen 2,4,5 Heumranene

1,4,5 sflurenensu 2,3 Heupmerenel

o0 ®

1,2,3 sflwrereneu 4,5 Heumrersneu

Which is correct?

1. Samudra Gupta popularly known as 'Indian Napoleon'

2. “Poibos” a form of salutation to the King was introduced by Iltumish

3. Firoz Shah Tughlaq constructed a canal of 150 miles from Yamuna to Hissar for agricultural
purpose

4.1In 1398 A.D. when Timur invaded India, the Sultan of Delhi was Mohammad of Ghori
5. Nasir-ud-din Muhammad Shah was the real founder of Turkish rule in India

A. 1,2 are correct 3,4,5 are incorrect

B. 1,3 are correct 2,4,5 are incorrect

C. 1,4,5 are correct 2,3 are incorrect

D. 1,2,3 are correct 4,5 are incorrect

115. AeraumeneiiauBpiied 6% HeUBTH ERenewrbBLILL HeiTengi?
A. 10F used - @rremien UBeOTFHI

B. wamnsr&ii - Qurgd sim6pniaaisn &emiladenauwmeny

C. Garisumev - e)meUTUL Sl Fuf

D. a&r&-2_so-@ardh - BHHGHIHB AHBTS

Which of the following is incorrectly paired?

A. Mir Bakhshi - Military Advisor

B. Muhtasib - Censor of Public Morals

C. Kotwal - Revenue Collector

D. Qazi-ul-Quzat - Judicial Officer
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116. &pm (A): @bHWUT @B REOBUWITETIMID CBTERIL SHTUIS GIQUIT&.
amyend (R) : Wfili9eg UTFTEDHOSIE WIBHGID AGWHHS QEMTHUSH WBSSID Bl Buwi HIpsFHuwirer
Henemilisnl gBUBHS SBHHW SATEWIEVHIOLIL] (PWIBE CFLISBSHI.
A. (A) opgd (R) @rem@o 2 awenw wppid (R) semug (A) @sr sflwirer siendeid
B. (A) wpmid (R) @yenpio o awenwgrsnr enmev (R) steiiug (A) @sir sflwiren sflenésd Sievsv
C. (A) 2_awiemio 2yemmev (R) Houprengi
D. (A) seaupreng), @yenmev (R) o _emenio
Assertion (A) : India is a sovereign democratic republic.
Reason (R) : The constitution of India strives to bring about a happy bond between British
Parliamentary System and US presidential system.
A. Both (A) and (R) are true and (R) is the correct explanation of (A)
B. Both (A) and (R) are true but (R) is not the correct explanation of (A)
C. (A) is true but (R) is false
D. (A) is false, but (R) is true

117.  dereupld smBmieefsv e1g Ffluimeng?

1. orBlev @EHHF GWT&HdH SHemevsugTey, Tfley 15561 & PundssiubGHmTy

2. 70601 HmHHF FLLID OLeved 1ommid urenngsCsfl @uuwirsds Hamevalj BHFHedev euTHHMNHD
WPISHSHS-

3. sOBETH GBLesHcSB FLLD, WIHusH Caemeudst BBID SHevel  Bneusmbiseiey 69 FHelis
BL @HIHBL ML QUPHIGBBEH!, BFH 75 uH HHHHHH APVID QEMUSHTEUGI L euenenruled G&Ffohaliul L Fi.
4. 1953 oup e wbHTI FCHFID o HeuTdhdlul L 198G, TH BISTMIILSF FULSH6g GSLof
wreIl LD oBpd OsaraibHuimelsr CFmlsri enL. 1956 @ev SIOPHTL BL 6T EenemroUILL_L Gl

A. 1,2,3 sflureng wompibd 4 SHeupreng)

B. 1,24 sflureng wmpio 3 Heupreng

C. 1,34 sfwreng wommio 2 Heupreng

D. 1,2,3,4 sismsusHsin &

Which among the following statements are correct?

1. The Governor of the State is appointed by the President, under, Article 155

2. 70th Amendment Act enabled Delhi and Pondicherry to vote in the Presidential Elections

3. The Tamil Nadu Reservation Act, which provides for 69 percent reservation in the jobs and
educational institutions in the state, was placed in the Ninth Schedule by 75th Amendment

4. After the creation of Andhra Pradesh in 1953, according to State Reorganisation Act Kumari
District and Sengottai of South India incorporated to Tamil Nadu in 1956.

A. 1,2,3 are correct and 4 is incorrect

B. 1,2,4 are correct and 3 is incorrect

C. 1,3,4 are correct and 2 is incorrect

D. 1,2,3,4 all are correct

118.  Wersumd ndbmBHmend Gealeihise, s1gl Ffluleuen?

A. 9fley 275 @eit Bip oreilwibissT FLLLILFeuDTarem6l, 6% Fowid 1fley 282 @it HiD Siemeu 6M(HLILILOT6TEN6

B. dfley 2826 &i1p, HLLID DieveundH GCFeV6adhIBEHGHHTS Ll IDTONULIBIGMET 6IPHIS CBHTIOABFHIGHHBES
DAHSTIID 2 _6TT6NH).

C. 96y 2756 B1p, HH ACwirsh ufbaienruisr SigliuenL ulev eTHSHBUILL L (Ig6efsiLig DTNLBIGENET 6)IDhIG
CamMABshIesHHBE 2_flenio 2.

D. @pHu s Ljel Onarabcd eamssefs@d o flennujl e BILTEHMSHH RH  Dieneuderieuid
BGusaiusBEG D UKIG CURBIISBGLD 2 _flenlo 2 _6Tengl.
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Consider the following statements, which is not correct?
A. The grants-in-aid under Article 275 are statutory whereas under Article 282 they are
discretionary
B. Under Article 282, the union has the power to provide grants-in-aid even for non-plan
expenditure
C. Under Article 275, the union has the right to give grants in accordance with the decision taken
on the basis of recommendation of Finance Commission
D. Attorney General of India has right to speak and take part in the proceedings of either house of
parliament with right to vote

119. @@ GoriLry engd®sir 5 el Lj QuByredev 220 &1 uwenidSmg . 1.5 60 L QuL_Byredsv srsusiene)]
HITID HLHEGID?

A. 22 &.8 B. 44 8.8

C. 66 .8 D. 48 &.18

A motorbike travels 220 km in 5 litres of petrol. How much distance will it cover in 1.5 litres of
petrol?

A. 22km B. 44km

C. 66km D. 48km

120. Simplify: spé6
2 4 3 . 2 1 1
(3+9)ofs+15x1y—3

A. 2/3 B.1/3
C.1/6 D.2/6

121. Find the value, w&isnus seur_Bluiayb

0.081%0.484

0.0064*6.25
A. 0.08 B. 0.48
C.0.99 D. 0.62

122. @m ouweled 20 Brisendd 276 oifjoendE o omie| o . 46 BT sehd@ 2 w6 BHlgdH@D
auenBUT60 61 GHement 66l @& Weledmba QeuefGuim Gsusir(Hid?

A. 136 B. 156

C. 146 D. 164

A group has food for 276 soldiers for 20 days. How many soldiers should leave the group, so

that the food may last for 46 days?

A. 136 B. 156

C. 146 D. 164

123. 11,13,17,19,23 Bhd auflenFulsit DBHHSD cTeTenewId H6wILNHUIRD
A. 25 B. 27

C.29 D. 31

Find the next number of this sequence 11, 13,17, 19, 23

A. 25 B. 27

C.29 D. 31
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124. @ puj 600 15 Benpsiten OHHemeu 5 BHIOL HH6v HLHBBTF. @@ 6wl CHYHHBEG HLSuiev Sleueng Geusbid
61601601 2

A. 3.6

B. 7.2

C. 84

D. 10

A person crosses 600 m Long Street in 5 minute. What is his speed in km per hour?
A. 3.6

B. 7.2

C. 84

D. 10

“_n “yn

125. “a” wmgib “b” et LCM erstiug a , “b” wmmid “c” @er LCM eyang b atevimmsv, “c” wmmgib “a

&6t LCM er6dtemmaum @io.
A.a B.b C.c D. abc
If LCM of “a” and “b” is a, LCM of “b” and “c” is b, then what is the LCM of “c” and “a”
A. a B.b C.c D. abc

126. 126ugl ~.emUBLTENEE 6T6w0T 6163607
A. 89
B. 144
C. 233
D. 377
What is the 12th Fibonacci number?
A. 89
B. 144
C. 233
D. 377

127.  eqpsaibest 6Ly _ ABA _CABC _ DCBA _ BAB __ A & wyss sflwmer sfmuiub/u§ensod
Cxijey Gauiweyd

A. ABDCA B. BCADC C. ABCDD D. CBDAA

Choose the correct option/ answer to complete the alphabet letter series

ABA _CABC_DCBA_BAB__ A

A. ABDCA B. BCADC C. ABCDD D. CBDAA

128. yrl 8y Faps QuibehiesT e pwwuBsenw GombomsiTé siner

A. saliu’ L perelsd TBBGHMS JBUBHHBBSI

B. @men seliul L 2 minilermfer QFulsuseaisy OTBBSHMS GHUBHHIBBSHI

C. sn6urglsiien Fepd gBUTBHM6N OTBB (PWBTF CF BB

D. Qubureud  oirs  ADBMTHMSHD  MBLLUBBIONSET  (P6VID  FApd 2 _meydemen  HJIoTe  OTHB
WLBFSBBSI

Revolutionary social movements make an attemptto

bring about a change in the personal consciousness

bring about a change in actions of its individual member

strive to change the existing social arrangements

attempt to radically transform social relations, often by capturing state power

OSNn=p»
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129. dereu@md smBmIGEmend SHHHD CBHTah SHeUBTen @6TenBed HeurL MiuIa)D
L BHemal mIoswId FULUyjeuorsd 1856 Gev ianioHéb oI L gl
II. Goumd Wb Freveud BHelenr @bHWTeIeT HHendH 616N AMIDHBLILBGEBTH
I1I. gregrgmd GorseyTil @bFH OHHHE OTFL 6N UTHF 6T6ImI eMIPHBLILBMBTH
IV. SWUTNHS FTevaldH FHH RUSHHMHH OCHTL HLIDGIT)
A. LII
B. ILII
C LIV
D. IIL, IV
Consider the following statements and find the incorrect one
I. widow remarriage was legally permitted 1856
II. Swami Dayanandha Saraswathi is known as The Father of Modern India
III. Rajaram Mohan Roy is known as Martin Luther of Hinduism
IV. Dayananda Saraswathi started the Shuddhi Movement
A LII
B. ILII
C. LIV
D. IILIV

130. el Fflurs QUTHHHIBBSHI?
L. sy 6o QLsrour_ & — 1854

I1. emewor_j sdageir - 1882

III. vevaemevdaips F1 L Ib - 1880
IV. aurysmey seveildh S ib - 1904
A. Tiommguo IV il H6W0

B. II o @id

C. Tommno 1T

D. II @ 11T

Which is correctly matched?

I. Wood's Despatch - 1854

II. Hunter Commission - 1882
III. University Act - 1880

IV. Wardhaw Scheme of Education - 1904
A. Tand IV only

B. IIonly

C. landII

D. Il and III

131. &pdbseraubenms QUT[HHHI®

U iguiev I uiguiev 11
a. 19660 GFLIT 1. sremumil OpenGrres
b. @bSHuw FHIBID 2. BaraBev
C. @hHUWI LemiT6f Frhidbid 3. 9L L6br 191y
d. QFeveu Fipeuor_sv Gammur® 4. S.N.urenjeg
abcd
A.4321
B.3421
C.3241
D.2314
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Match the following
List I List II

a. Delhi Durbar 1. Dadabhai Naoroji
b. Indian Association 2. Gokhale
c. Servants of India Society 3. Lord Lytton
d. Drain theory 4. S.N.Banerjee
abcd

A. 4321

B.3421

C.3241

D.2314

132, wiuieo I wguiev II o Leér QuTrpeH HCp Garhdsiul(Hsiten Giuibsenend CoTami® Ffuimer
uHmevd CoHiHOIHE

U iguieo I uCiguiev 11
a. GLITLD6wNU LI S\ 1. @emenui @bSHuir
b. oieienl GuiEe 2. BpFubH6N
C. IDBTHIDT HMHS) 3. @hSHwr
d. .60.® 4. yHw GpHuwir
abcd
A.3412
B.4132
C.4321
D.3214

Match List I with List II correctly and select your answer using the codes given below:
List I List II
a. Subramania Bharathi 1. Young India
b. Annie Besant 2. Desabhakthan
c. Mahatma Gandhi 3. India
d.Thiru.Vi.Ka. 4. New India

abcd

A.3412

B.4132

C.4321

D.3214

133. @eL&H®T60 FFIHRIBD CHH Hemevenoulsv GUTIIGLBMHT6IT
A. a6t 6, 1946

B. ageeir 24, 1946

C. ymeivol” 16, 1946

D. Gei_iouy 2, 1946

The Interim government headed by Nehru was sworn in on
A. June 6, 1946

B. June 24, 1946

C. August 16, 1946

D. September 2, 1946
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134. eraumeneaiBenml QUITHHSH Ffuirer ellenL_enwi B5HjH0\%H BB ID:

a. HILIOLsVID 6J6MIDSHEIHID

b. sgeumBTwIs FLoHSHIGUD

C. QT6NILTID MbHT6I(B HI LD
d. 1991-1b e UHW QuTwHENTHTT CBTeTend

abcd
A.2341
B.3214
C.1342
D.4123

Match the following and select the correct answer:

a. Planning and the poor

b. Democratic Socialism

c. Second Five Year Plan
d. The New Economic Policy, 1991

abcd
A.2341
B.3214
C.1342
D.4123

135. QumrmsHSHIH
a. sy yri&
b. @enepFminy Yy &
C. HhIsL YL &
d. Geusiteiitl L &

abcd

A.1234

B.4321

C.1342

D.2314

Match the following
a. Red Revolution
b. Pink Revolution

c. Golden Revolution

d. Silver Revolution
abcd
A. 1234
B.4321
C.1342
D.2314

1. Roomss/ sHdsTe
2. 1pLemL

3. @mT6v

4. uprhissit/ Sl

1. Meat/ Tomato
2.Eggs

3. Shrimp

4. Fruits/ Apple

24

1. 9.60. BFSIDIDFTEN
2. 19.61610. 1060TOUBTEIV
3. egauamieurev GmH(H
4. 9.8\ 0ameu@rmTs

1. P.V. Narashimma Rao
2. B.S.Minhas

3. Jawaharlal Nehru

4. P.C. Mahalonobis
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136. eraumeeauBenml QUTHHSH Ffluirer slenLenuwl CHjey OFis

a. 19l 1. ubE FHMSH
b. &1 2. BB _wije)
C. 6T6VORFL 3. 106dramyID
d. eremg1i& 4. OHTene00HTL L
abcd
A.4132
B.4123
C.4321
D.3421
Match the following and select the correct answer:
a. TRAI 1. Stock market
b. SEBI 2. Export promotion
c. SEZ 3. Electricity
d. NTPC 4. Telecom
abcd
A.4132
B.4123
C.4321
D.3421

137. @pHwreilev wirymev GHFI eUHLOTEIND HEIBBHBID (WenB SWITHSBILGDBSHI?

A B LS G B. @b&uw flajeu eurhi

C. 065w HFH iemind s aHid D. wgsSui ysiterfuiutsv SiemioriLy
National Income Estimation, in India, is prepared by

A. Planning Commission B. Reserve Bank of India

C. Central Finance Ministry D. Central Statistical Organisation

138. &pdoerLaumenpl QUTHSHHIH
a. NHGHHIMD FFTHHHSHD & (19 1. S.D. QLamBevs)
b. % o_sen_ssddH @10 2. TG Freges
C. Cprig eufimeit elFTrenemid & (1D 3. 8. JrhIbyTeg6sn
d. sugemio ST G 1penm 4. ouTEh &,

abcd

A.1324

B.2341

C.3412

D.4231

Match the following
a. Committee on Financial Sector Reforms 1. S.D. Tendulkar
b. Committee on Financial Inclusion 2. Raghuram Rajan
c. Direct Taxes Enquiry Committee 3. C. Rangarajan
d. Methodology for Estimation of Poverty 4. Wanchoo

abcd

A.1324

B.2341

C.3412

D.4231
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139.  uew eibdHH6ed Slenenel Nwl flFjeu euk HBOUTEH © LCWTE GG ieeyBsHTev
A. Qurgl ellenso Guil B
B. Quorss eilenso @mui (G
C. §svsvemm 6lemsv @MUl (b
D. pisjGsury sllenev @nfuii (B
The key measure of inflation adopted by the Reserve Bank of India currently is
A. The General Price Index
B. Wholesale Price Index
C. Retail Price Index
D. Consumer Price Index

140. @b Hwireilev STIOLILNG 6JIPENIDEHEBT 6N BT G0N 61T
1. Gousmevulsitenioujid Geuemevd @ emmeyDd
IL. & ®6iT OHTMS SN(IPSHHID
III. @b5w Geusrmenteniouied 2 _BuUSHHH Hmei 106 W0HD w6
IV. 8rmoliys 10és6eflsv QumbUTeOTaTeufaHsiT GUTSHIUI BieTey COFTSHHIBHM6NLI GBI E[HEH D606V,
BoB6v GBTHHBLILL_(BETT6N FnmmIB6TeD 6T&HI S6V6VEI 6T6nal Fifl
A. L 1L, 1T wmio IV
B. I, IT i 111
C. I ommno 1T
D. II wppio IV
The main causes of rural poverty in India?
I. Unemployment and underemployment
II. Population pressures
III. Indian agriculture is marked by low productivity
IV. A majority of people in rural areas do not have enough assets, especially land.
Which of the statements given above is/are correct?
A.LIL Il and IV
B.I, Il and III
C.Iand Il
D. I and IV

141. wiuiev I-e wiguiev I 2 16t QUTHSHS), LI IQUIodEhd@& H6IpdH ComBoHLILL [BeiTen GHTGLIIeN®mHSI

Fflwren ellsnLsmwl OS] OFuiis.

uiguiev I (smeuyid) uiguiev IT (srevBlemev)
a. Bp6® 1. 19506u1L BewIL &6l STeVHen6
b. 216961 2. GeILILIT LTEN6VEIGISH BT6VBIEN6D
C. FUUTHHS HeiTer 3. SIWIENT LDEITL_ 6V LIheUGBMBHI SHTEVHen6D
d. siorjemeio 4. \pHHUWISHEMTEH BL 6V BTEVHEN6V
abcd
A.3421
B.4312
C.1324
D.4321
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Match List I with List II and select the correct answer using the codes given below:
List I (Plant) List IT (Climate)
a. Teak 1. Cool temperate continental
b. Olive 2. Hot desert
c. Cactus 3. Tropical monsoon
d. Spruce 4. Mediterranean
abcd
A.3421
B.4312
C.1324
D.4321

142.  QuUTmHSHSHI®:

U iguiev I uiguiev I
LOMB6VID CxrFWINLBIST FJ6mnTeOUID
a. GEITH 1. usSiy
b. o _58nirésaip 2. IDTEUIT6IY
C. SI6TV6NOMID 3. &TFouL
d. sjprLsr 4. 8
abcd

A. 1234

B.2143

C.4312

D.4321

Match the following:
List I List IT
State National Park / Sanctuary
a. Gujarat 1. Bandipur
b. Uttar Pradesh 2.Manas
c. Assam 3. Corbett
d. Karnataka 4. Gir

abcd

A. 1234

B.2143

C.4312

D.4321

143.  QuUTmSHSIcH:
a. 1336 1. umdein Guyya CaTmmId
b. 1347 2. HmevBBHTL_emLL1 GuIy
d. 1565 3. elgwipar Guyra efips&
d. 1614 4. sxwipari Guyra GHTHMID
abcd

A.4123

B.2314

C.3142

D.1324
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Match the following:
a. 1336 1. Origin of Bahmani Kingdom
b. 1347 2. Battle of Thalaikotta
c. 1565 3. Downfall of Vijayanagar
d. 1614 4. Origin of Vijayanagar
abcd

A.4123

B.2314

C.3142

D.1324

144. SmegeChouymwiy UHSHTS BljoreisHd HeTD wrg?

A. usopruyyio B. 8 meuenbsLrio
C. praeoryyib D. sflaptiyrio
Which city was newly constructed by Krishna Devarayar?
A. Padmanabapuram B.Thiruvananthapuram
C.Nagalapuram D. Villuppuram
145.  wlguwev I &g uliguiso I 2 16t QU Ffiwiren sllenLsnwl CHiHOSHH

U iguieo I uciguiev 11

a. &iflerevsit 1. 5i8@evmedr 1" Huimerny

b. Qa1 Beusn 2. Umeingul L1 Suireny

C. OrBEbOFINWeNT I 3. Gamp o1 Fuwimery

d. sweur@ 4. Gy o Fwmeny

abcd

A.3421
B.4123
C.3124
D.3412
Match List I with List II correctly and select answer:

List I List II

a. Karikalan 1. Ceylon ruler

b. Chenguttuvan 2. Pandya ruler

c. Nedunchezhiyan I 3. Chola ruler

d. Kayavahu 4. Chera ruler

abcd

A.3421
B.4123
C.3124
D.3412

146. @Lauenyd CHTUT6VD6IT 616018 LIHUI H1 191 HEHen6v LITewienil SMLpSILBGHHUiedf wiry?

A. 1p&H60TID BHSHEUTLO6HT B. @yer_mb ph&HeujLoss

C wpaeomid S HBTeUFLO6H D. wpseorid Br&ibiosufioes
Who introduced a new style of Architecture in the form of Rock-cut-Temples?
A. Nadivarman [ B. Nandivarma II

C. Mahendravarman I D.Narasimmhavarma I

28


https://aruliasacademy.com/
https://aruliasacademy.com/

ARUL IAS ACADEMY

THE WAY TO YOUR DESTINY] SINCE 2014

147. eraumeenauBenml QLITHSHHIH:
a. GFeiTeme LDTHBITLG)
b. umbBu wrpEFTL &
c. fitedr Wy & jomeonio
d. wrGwir 195y & jLomemnb
abcd
A.3214
B.1234
C.3124
D.4312
Match the following:
a. Municipal Corporation in Madras
b. Municipal Corporation in Bombay
c. Lord Rippon Resolution
d. Lord Mayo’s resolution
abcd
A.3214
B.1234
C.3124
D.4312

148.  priigw Gh& W usitef Bigieuiu’ L <yeur®
The National School of Drama was setup in

A. 1956 B. 1959

.1726
. 1882
. 1687
. 1870

= W DN =

.1726
. 1882
. 1687
. 1870

= W N =

C. 1961

MOCK TEST NO. 1

D. 1962

149. eauflng I-3 suflng II 2 1 61 QUTHHE FHwiren sllenLenw SpaTamid OHTEGLINBHSH OHfey CFiis.

auflens 1 auflena 11
a. uss Fbl 1.58s1f &5 aupsH &
b. gmb Wyars 1Weroidev 2. SIL BB QU|FH FTEN6V HIThEHH6V
C. 2_H&ID &l 3.60TEmf &5 aUpHEG
d. @flur Qe 4.m108565H60 @ LW GleTensv
abcd
A. 4123
B.1324
C.3142
D.3241

Match List I with List IT and select correct answer using the code given below:

List1I

a. Bhagat Singh 1. Kakori Conspiracy Case
b. Ramprasad Bismil 2. Chittagong Armoury Raid
c. Udham Singh 3. Lahore Conspiracy Case
d. Surya Sen 4. Murder of Michael O Dyer

abcd
A.4123
B.1324
C.3142
D.3241
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150. 445 wmpp 572-m @® GIOILL eeauame aGHGSLOUTEH weompw 1BH 4 wBpd 5 -
ST Hanigul I0BNCOLIFUI cTeTenemId BHENTL5lEH?
Find the greatest number that will divide 445 and 572 leaving remainders 4 and 5 respectively?
A. 63 B. 65
C.6l D. 62

151. 1+5+9+.. e160iB QHTLflev eTHSHemen 2 MIlGHemend Fnl igeanmsd FaBHev 190 BenL_H@Gb?
How many terms of the series 1+5+9+... must be taken so that their sum is 190?

A 6 B.8

C. 10 D.12

152. Hemb 3 15 wBmd e LD 2.8 15 2 LW @M FOSUBHHID 2 _(Hwenenwld CBTeIB @M GHT LD
FOHUGHSU LGOBH .8 aBmIG6eTs0 eleususney LTLeHL 2 _Hewen Foei Gauiujb?

A garden roller whose length is 3 m long and whose diameter is 2.8 m is rolled to level a

garden. How much area will it cover in 8 revolutions?

A. 264 m? B.195.2 m?

C.217.2 m2 D. 211.2 m?

153. q@m Hewio emyHCsTeNSHedt gLyl 1386 &5 e16fl60., FHedt GOTHSI LUBLILTIHUS HTEwISH?
If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface area?

A. 4158 m? B.3353 m?

C. 5356 m? D. 4481 m?

154. @m OpLLTeanngeo )Leap year) 53 safieBIpeniodsT HeOLLILSBHTN HBIDSHDHE| 6T6N60N7
What is the probability that a leap year selected at random will contain 53 Saturdays?
A.2/7 B.3/5

C.1/4 D.1/7

155. @ <iempuien BHemb, SiGeod HBEID © Wb wenpGw 25 15, 15 15 wmpId 5 15 G BUT6T
SO WHIYID BTG aaujdemenud ysnlbsl a5 1B LGdEG 80 ofmb QF6vey YU@ID eleafey,
QTHHEF CFevemeld HT6ID?
The length, breadth and height of a hall are 25 m, 15 m and 5 m respectively. Find the cost of
renovating its floor and four walls at the rate of X80 per m?2
A. 60300 B. 62000
C. 364100 D. 66000

156. 10,17,16,21,13,18,12,10,19,22, ai6ti3 cuen&LILGSHILILILTSH HTa b6l GenL_Hened D66 BTGS2
For the following ungrouped data 10,17, 16, 21, 13, 18, 12, 10, 19, 22. Find the median?

A. 215 B.16.5

C.135 D.195

157. 20% efllewevr 2 wijelB@l et @@m HGeor 2 _@EphdHID umLlsh oilemev 96 erafier, @m DGsoT
2 _@EphG D LHULI6HT SIF60 6Henevenlics HT6wrH?

If the price of Orid dhall after 20% increase is X96 per kg, then find the original price of Orid
dhall per kg?

A. X100

B. %120

C. %60

D. X80
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158. @m muflen eumworend 10% oPsfissiu G 9Bg 10% GoBeEsUILGDBSH 6Ty, JleuHemL L
RUHIDTRISHFHEV GBLUGBID DTBBHNHD HTCHIH?
The income of a person is increased by 10% and then decreased by 10%. Find the change in his
income?
A. 99% B. 10%
C.1% D. 2%

159. afHdd) @wmeuj, @M St CarHaevenen 11% Geomud w@pgd 18% &réE@ wHEYID GFameu
aflyLenr Gaisha 10502 Qob@ olbmry Sl QosTHdcvale GUHD 6lened WBYID FTHE . LDHBHID
Bxemeu euflemuis HTerd?

A water heater is sold by a trader for 10502 including 11% profit and GST at 18%. Find the

marked price of the water heater and GST?

A. %1602 B. %1504

C. %8900 D. %1202

160. @wm eouemawmer urdlefum, wdHeoreld @m el CrrHHev 5% eueNFFHUYD, ST Teug
welCrrhHeo 8% euenjFHd @Gedlub, apeipTausl WeMBEIHH 10% eueMFFUID DML BBHI.
CHTLEDHH0 iHen eeienidmd 10000 e QmbHeH 616M60, capsiml wewl CHIHHBGL LIBEG g6
cTeuTenficbenBHENLID HTCUIDH?

The bacteria in a culture grows by 5% in the first hour, decreases by 8% in the second hour and

again increases by 10% in the third hour. Find the count of the bacteria at the end of 3 hours, if

its initial count was 10000?

A. 10626 B. %9876

C. X11236 D. %8678

161. @m BETHHN WEHBNMOBHTND AUWBDEG 6% i APBfEDma 2018 b el
w&HHMOHTend 238765 946 Gmbdral 2016 wmmid 2020 b EIGHH6MD  1DHBETOHTEMHMUIG
HTewIH?

The population of a town is increasing at the rate of 6% p.a. It was 238765 in the year 2018. Find

the population in the year 2016 and 2020?

A. 168170 B. 108276

C. 188515 D. 268276

162. &l Bou psGD SHalall 9b@GID SenL BuiuleTen cHHUITFHMmBHDH BT6IH?
(i) P=3%8000, ouei® eultg efigp r = 5%, n = 3 oyeB a6

Find the difference in C.I and S.I for?

(i) P =%8000, r = 5% p.a, n = 3 years?

A. 61 B. X8

C.X16 D. 64

163. 180 8 Henapeiien e umuismesr 15 Oueiesit 12 prsideiev Gaiigeny 512 15 Henupsiten @
urulenenr 32 QueTdsT GFUIL 615HHMEN HT6TTH6T U GHID?

A. 14 prenemeit B. 12 mrenimsit

C. 16 mrstiamei D. 18 mrstimeit

A mat of length 180 m is made by 15 women in 12 days. How long will it take for 32 women to

make a mat of length 512 m?

A. 14 days B. 12 days

C. 16 days D. 18 days
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164. P wppo Q a456wry @wm Gousmevenw wenpGw 20 wmpd 30 BHreTdeRey WIQULT Di6MfH6IT
@meuplo @eiprdd Cajhadl Geouemevenwid OHTLEIB &Heo BHreimdsT Gouswev OFIH LIBE .Q yereuy
OGO BT) WBHpsiten Gousnevenw: P oeeuy 5 mrsndeiiev wipbEmmy elafsv, OHTLmSBuGHedmHai
THHme BreTbendE LIBEH Q Goausmsvenws 6l H&F Gaemmmy?

A. 10 prenesit B. 12 s

C. 16 prstimei D. 14 prstisei

P and Q can do a piece of work in 20 days and 30 days respectively. They started the work

together and Q left after some days of work and P finished the remaining work in 5 days. After

how many days from the start did Q leave?

A. 10 days B. 12 days

C. 16 days D. 14 days

165. Jyefer Hewd LIBHH BTEHHEHTE LLSHH0 &L Igulsiteny 3 BeoFl enL &6, 2 (WPIHBTEO
FLMLB6T WBHID 3 BTy HTeVMIE6T  UTHISMTNDlGUT HeilanienL Wl L1IBHLH HTET6IDH . 615HSHM60
elsoren  eufidaney STl MESL LHW 2 eDLedD Henen AibHid OCdTeTeudBE euTwIiysHei

o 6itengl?
A. 18 B.9
C. 12 D. 16

Praveen bought 3 shirts, 2 jeans and 3 pairs of shoes for his birthday. In how many different
ways can Praveen wear a dress on his birthday?

A. 18 B.9

C.12 D. 16

166. eQUTYSH '&85HH BHreT RHHuwimelley GQ@BTesdTL ML LU L HI?
A. 27 @i, 1932

B. 28 G, 1932

C. 29 @, 1932

D. 30 @i, 1932

When 'Swadeshi day' was celebrated in India?

A. 27 May, 1932

B. 28 May, 1932

C. 29 May, 1932

D. 30 May, 1932

167. yy &asromen CaHFweursH HeodewrL 1yibsFFTfl 1IBhe GLID

A. HmOBevGaIsd

B. wgeny

C. gyamg

D. QGsesienenr

The revolutionary nationalist Neelakanda Brahmachari was born at
A. Thirunelveli

B. Madurai

C. Sirkali

D. Chennai

32


https://aruliasacademy.com/
https://aruliasacademy.com/

ARUL IAS ACADEMY | MOCKTESTNO.1

THE WAY TO YOUR DESTINY] SINCE 2014
168. FOeuIMDETIOGHEG (6 ., MEUSGDHID FHHUTHTHHMS OBHTLHRIBIUI APGIN HEMEVEUTH6IT. Di6UJH6ENTeUS
A. 8 yaersid Bsaeu Ges .19.85 rHeusd wHBHBID CH.5H .
B. 58ss6u Guweven wommid mrjey Gmrsll 19.85 .orHeus 6.
C. ey Gmrsl,HI &srab By 6688 T&Heus.
D. Galiysrsid wmupnd oMy Gmrall .5 .BaaFeu Gueumen .19.
Before E.V. Ramaswamy Vaikom Satyagraha was first started by three leaders. They were
A. T. Prakasam, T.K. Madhavan and K.P. Kesava Menon
B. T.K. Madhavan, K.P. Kesava Menon and George Joseph
C. George Joseph, T. Prakasam and T.K. Madhavan
D. K.P. Kesava Menon, T. Prakasam and George Joseph

169. wmymelledl emeubSID GUITTTL L HSTL gBULL 106F Ffirer elenenea)®en slenel.Cel.?

I. #Oeuym' 'emeuddID 6MFJ 6TMMBENIOSBIILL LT .

II. e _saparH0H6T MeubslD HTCHT GoTuleded CF6im euALTH 6ClF6060 DIEDIDEHIHBLILIL L 6],
I[II. &Sean_HpsTH0UTH6T  MaubdD  LHTEHe]  CadTulemevsd  ammlulsien  iHdEHHGHF  GlFeven
SIDIDH SBBLILL_L_60T] .

IV. eweudbsid GurrmLid @@ Hev 1fleenmev BLSHSULL L FHI .

A T opgio 11

B. I ommnp 11

CII wpguo 111

D.I wmmio IV

Which is the correct statements about the results of 'Vaikom Struggle of EVR?

I. EVR was known as Vaikom Hero'.

II. The untouchables were allowed to enter the Vaikom Mahadevar temple and Worship God.
III. The untouchables were allowed to use street around the Vaikom Mahadevar Temple.

IV. Vaikom struggle was organized by a particular sections of people.

A.Tand II

B.Iand III

C.IIand III

D.Iand IV

170. 1967-e0 smhaSev & efpFHwenL W WHHWwd SMyeniord SmboH

A. A o _awiey Lysaene

B. &elen s11958).%.1p.

C. Gomg 9y&aenen

D. Qur@mLseflsi eflensv o _uije)

The major reason for the decline of congress rule in Tamil Nadu in 1967 was
A. Food crisis

B. Rise of DMK

C. Language crisis

D. High price of commodities

171. ®eor&amyiD WBEID Hevell 2 Fflenwenul SleMb@GID BHHUI DAFHWIeVION] NGH6IT WiTeneu?
A. % 27 ommio 28
B. 6% 29 wmmio 30
C. % 31 wmpio 32
D. &8 33 wppo 34
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Which articles guarantee cultural and educational rights under the India Constitution?
A. Articles 27 and 28
B. Articles 29 and 30
C. Articles 31 and 32
D. Articles 33 and 34

172. Qdemeuplo @bHw  arFwevenioliled 61hH 6MFH o _FFHEH WIMHHBGH FBY IO g)ieileneor
JHGD ADBMTHMS CUPHIGBBHI?

A 65 136

B. s1& 32

C.sl5 139

D. 6§ 226

Which Article of the Constitution of India conferred special leave petitions power to the

Supreme Court?

A. Art. 136

B. Art. 32

C. Art 139

D. Art. 226

173. SphbodeniL uThHUIBIG6T 61 FRUIT6IgI?

L @pHw ar&wsvenwoiniev IV @b ueHuisv <irgis Geretensuisner GpEIULGHSID Gsmurdaeet @ D
QummisiTerment

II. @b sirfwevenwotiilsss V b uGHuld oipgis Geretensulsnen GBMILGSHSID GoTi urdasT G ID
QummisiTerent.

III. @pdw orswevenornien II1 b uGHUIL SiFas GaTeiendulen CBRBIILGSHSHID CHTL_UTBEH6T
@ bGUBMI6T6T6D.

IV. @bp5w arfwevenotidssr IV-A @b ugHuiev ipsis smsiensulsner OppBLGSHSID GsT uTBaH6TT
@LID GuBIeTeET.

Among the following statements which is correct?

I. Part IV of the Indian Constitution consists of Directive principles of states policy.

II. Part V of the Indian Constitution consists of Directive principles of state policy.

II. Part IIT of the Indian Constitution consists of Directive principles of state policy

IV. Part IV A of the Indian Constitution consists of Directive principles of state policy.

Al

B. II

C. II

D. IV

174. @pHw Srfweosnolnisv ebsl 1fle] WESBCT RbHwIjHeled [Heved LTHBSTHGHD — Bl
AHBTIRIBET LUBY FnmIBBaHI?

A. 97y XIII

B Wfley XIV

C 9fley XV

D difley XVI

In Indian Constitution which part states about the special provision to protect the interests of

the Anglo-Indian Community?

A. Part XIII

B. Part XIV

C. Part XV

D. Part XVI

34


https://aruliasacademy.com/
https://aruliasacademy.com/

ARUL IAS ACADEMY | MOCKTESTNO.1

THE WAY TO YOUR DESTINY| SINCE 2014

175. "wagamjieieno 6160IB UTFHMS, DATHWevsMIO] FLLEH6N WL Tuied GSenenrdbsiul L HBG
weenBr 2 _&FFBHID6MID 'I0HF FTjLieiento’ SIFFWevemIolIF FU L SN SlglilenL Famibeied @6y 6T6imI
Gl B 61517

The word 'Secularism' was inserted in the preamble of the constitution after supreme court of

India observed Secularism' was a basic feature of constitution in

A. 1975

B. 1973

C. 1976

D. 1981

176. "@bs '@m I Seveorsil LTed Syfuwievenioli] efer 32-eug FFwievsnioli] eiHenuwidh Sefiy Ceuml
@eitempud GUIUIL T CLT@Reuell®H SHTeil @HHW . FFUWeVMIOLIT6HT DLEMOTITHMID ERSHUIDTHE D
elenbi@BmGleteim Fnmwieny " wirg?

BMHEHE

B.R. @1b@ug sy

£36uaB6VT6L BB(H

6TLDIJTULL 6T60T.

"An article without which the Indian Constitution would be nullity. I would not refer to any
other article except Article 32. It is the very soul of the Constitution and the very heart of if"
Who said it?

A. A.Gandhiji

B. B.R. Ambedkhar

C. Jawaharlal Nehru

D. M.N. Roy

oNwp

177. Go»&w weaildh o femodel DemeIWID QHTLFUTEN FnBpisHeney 66U 6lhd @6l FRLTEISTEGHID?

1 @s6 SHemevauj WLBBID 2 WINTTH6T GYWTFidH HMevaflsl 2 SHFOTHID WBBID WHHemyulsi Guiflsv
BUILOS SLILG ST B6TT

2. QuTaIF QFweoTenyTed GHLULST DLMEMUISHH (IPHTmID CFUIY AHSTHWTS CFuwIOLIBEUT].

3. swevauj BEWID 2 pnlenfeenen UfbgHeny CFisusBosTar Geld EBHHUIH HmeVmID HHUFH LUGHeT el
o _minferyres EmULIF

4 sbp @@ 2 _puisngl 70-awm®d dLbHS LUIBEG uHelulsd CeTLY ESulsorsi

A. simaisaId FHuITeTene:

B. 12 wmmo 3 wl B Ffuimrersnel

C. 1,2 ommpib 4 L B0 Ffuirerensy

D. 2,3 w@pio 4 wl Gio FHuimerenel

Which of the following statements, regarding National Human Rights Commission are correct?
1. The Chair Person and other members shall be appointed by the President by warrant under his
hand and seal

2. There shall be a Secretary General who shall be the Chief Executive Officer of the Commission

3. Chief Justice of India be a Ex. Officio member in the Commission for recommending Chair
Person and other members

4. No member shall hold office after he/she has attained the age of 70 years. Responses:

A. All are correct

B. Only 1, 2 and 3 are correct

C. Only 1, 2 and 4 are correct

D. Only 2, 3 and 4 are correct
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178. &Spdboeucubmet 61gl Ffuired QUITmhHelevenen?

A. ®uurgd Hemeveuy -35

B. sumemt @luiraish Hemeveuy -30

C.2 55 BSwem HHUSH - 65

D. 2wy B&Hwem HEHUSH - 62

Which one of the following is not correctly matched?
A. The President -35

B. Vice President -30

C. Supreme Court Judge - 65

D. High Court Judge - 62

179. @pHwrelev GYWTassH SHMmeVaIHHEG THITH aPHEG UHe CFLIW Wigujor?

A. 1puiid Syemed (1p6dt IS G GsusuaT(BLD

B. wuwrsiehe @@ eUpH@GID GQWITS HMevaHHE IHTTHS . OHTHHS (PIQUITSHI

C. 5flev aMPHGHBEDHLET HBB PHEHDB6NT LUH6) GFUILIGOTID

D. &allev aupdb@®6n 0L BID uHey OF il L BGID uHey OFUILL (IPIQUID: SUETTED, HUMPHGHDBT GHIQUITHiSH
HMeVaUflell LGHel STeVHHM@ WperGuT isv6vdl 116TBUT 2 6iTem &TevITS: QHHH Geusin(BID

Whether any criminal proceedings whatsoever can be instituted against President of India?
A. Yes, but prior approval is necessary

B. No, it is not at all possible

C. A civil suit can be instituted along with criminal suit

D. A civil suit can be instituted only before or after entering office upon his/her

180. &gmo uehsTwHGH BCHFHL GG DAFFWevenIol] FLL OTHGI
Article associated with election process of gram Panchayats

A. Art 243-A

B. Art243-O

C. Art243-H

D. Art243-D

181. &pdaeu OFemeBBy®H, ~LTFeiHL_ BHRID FII0F D6N6|dEThHBenL_GUIu|siTenm Q&L L.
The relation between the Centigrade, Fahrenheit and Reaumur scale is given by

C _F-100 R g C _F-32 R
180 32 80 100 180 80
c C_F-32_ R p C_F-32_R
80 180 100 180 200 80

182.  wliguisv I-gg uiguiev 11 o L6t QuITHSHSHiH.

U iguieo I uCiguieo 11
a. THHEL RHHEH! MNIPD DN T6TT 1. 2_pmiie) sleng
b. srenre PBGID D IHS! 2. 10601 6lenF
C. BUBHT AFF60 61D MO 3. urwiresr elend
d. smrulsdmbal uBdEID afeduid LT 4. yeiufuy eleng
abcd

A.1234

B.3241

C.4123

D.2314
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Match List I with List II:
List I List II

a. Apple falls from tree 1. Frictional Force
b. Car comes to stop 2. Electric Force
c. Beam of Ink drops in printer 3. Buoyant Force
d. Helium Balloon rises from Land 4. Gravitational Force
abcd

A.1234

B.3241

C.4123

D.2314

183. &paramusiBens QUTHSHS Ffluirer elenl_smul CHiHOSH 6.

U iguiev I uiguiev I
a. ugflwr 1. [Ca(NOs)NH4NOs]
b. CAN 2. (NH2)2.CO
C. BTEVEIWID FLIeEnLOB 3. 3CaH4(POy)2
d. wibemio @Liug ursroGuL 4. Ca(CN)2
abcd

A.2143

B.4321

C.3412

D.1432

Match the following and choose the correct option:
List I List IT
a. Urea 1. [Ca(NOs)NH4NOs]
b. CAN 2. (NH2)2.CO
c. Calcium Cyanamide 3. 3CaH4(POq)2
d. Triple Super Phosphate 4. Ca(CN):
abcd

A.2143

B.4321

C.3412

D.1432

184. eraumeueeumniiev 61 Ffluired QUTHbHDH6N60en60?

A. QLtieomedr - QLL_gm y8Genm@rm 61865601

B. (1Genéen Senmeiv- GogHev CLogd T eyGeurt

C. gjeomen - Beflaymev, HTedd Biflel

D. Sugeurm S - sroemi_feor, 1, 3 - 19ugLLmemi_uissr

Which one of the following is incorrectly matched?
A. Teflon - Tetrafluoro ethylene

B. Plexi glass - Methyl methacrylate

C. Orlon - Glycerol, Phthalic anhydride

D. Buna-s - Styrene, 1, 3 - butadiene
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185. e &revdh HI_L 1D 2023-60 H1pdb BT maudH6lle0 61! (PHBUI CHTHHINS HHBLILGDBHI?

A. Gausmev aUTULILIENL 2 (hHEUTHEHFH6D B. etemining QHmhev miL Lib
C. slmal D. getmoremnp

Which one of the following is the objective of perspective plan 2023?

A. Create Employment Opportunity B. Digital Technology
C. Award D. Reward

186. anmm (A): Hibgl F0G6uer &6 G OBEID Gl L I BHeIenSHBM6MUD BHIDL6T.
ampenid  (R): Sbg FoGeuel oimspauryriidSulsh GUTEH DL HBHMAUBM6T MEUSHHI DIUH6T  HenMBU
DN BHEVETBEM6N LWLITLHSHS SHLILTFE6T 6160 HLOLSHGMmMID.

A. (A) wpgid (R) @remGio 5§, Cuwsuid (R) steiugi (A)-6iB@ sfiuiren sflendsio

B. (A) souml @uemmev (R) &1

C. (A) s <emev (R) seumi

D. (A) wpmid (R) @reGio seuml, Gweuid (R) steiiugi (A) sfilB@ sfluiren silenésioss

Assertion (A): The Indus people believed in ghosts and evil sprite.

Reason (R): Excavations at several Indus sites reveal that Indus people used amulets.
A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. (A) is false, but (R) is true

C. (A) is true, but (R) is false

D. Both (A) and (R) are false and (R) is not the correct explanation of (A)

187. BpéHoHewiL suTHHLIKIGMEN HeleldHa|LD.

a. SHUFT SAUHEML I FTLHeneh ClbmeTendsd@ Guuly Guireeuy

b. sieuj Oy Sirey Fregm 19amTf (1P&H60 SHM6T H(HID6ID C\F g O\bTeuur_my.
BIpH6BTHHBLILL L Helmbd Ffwimer ellenLsnul 05| GFUIuIaD.

A a LB &)

B. a @b b &

C. b @b &1

D. a wmmid b seum

Consider the following statements:

a. Akbar is famous for his Rajput policy.

b. He married the eldest daughter of Raja Bihar Mal of Jaipur.
Choose the correct answer from the options given below:

A. a only is correct

B. a and b are correct

C. only b is correct

D. both a and b are correct

188. &6 O&mBadalul_(Hsiten LTl SiFFjHemen Srev auflendliulg Ul iguiedl B Fflwrer slenLsnwl CHiHOSHH
I oi60m6nS 601 LTLDGNT GIGT

IL. ewstipmid 1w &I0gI QT

III. @08 agr

IV. 3@ymeiv agm

A LIL IV, 1T

B.L IV, III, II

C. 1V, L1, II

D.IV, [ 11, III
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List out the following Bahmani rulers in chronological order and mark the correct choice :
I. Alauddin Bahman Shah
II. Muhammad Shah III
III. Ahmad Shah
IV. Firuz Shah
A LI IV, 11
B.L IV, I, I
C.1V,L1IL II
D.1V, 1L, III

189. Gerhassiu_(Hsitem uliguisd I-gg uliguieo IT o L6 QuTHES), Fflwrer slsnLenw GHUIGseievo RmbaH
aylelolG

U iguiev I uiguiev 11
a. BITTUWENT & 1. yeorr
b. meugibs Fmd 2. Q6T
C. GoUTLOl HUITEHSHT 3. seefim@Lof]
d. Gegr®Humiii uBsv 4. omeflyriD
abcd
A.3412
B.4321
C.1342
D.2413

Match List I with List IT and choose the correct answer from the codes given below
List I List II
a. Narayanaguru 1. Pune
b. Vaikunta Samy 2. Jankara
c. Swami Dayananda 3. Kanniyaakumari
d. Jyothibai Phule 4. Aruvipuram

abcd

A.3412

B.4321

C.1342

D.2413

190. Geusnmeioremio © RHUWIBB HenevuTe0 SHLDHBTMILIMEUBEITEV 6T6n6U DTF6 [HL Y HENHHENTDBSH!.
1. Gouenmenor QUIT(HL_BEHHBTEN 2_MIF 6len6v

II. 05T BMULS HI L hicG6T

III. vy srniep

IV. Geuenmenaremioudlsv SipbpHL 1p&650H

A. Topgo 11 B. III b 11T

C. IIT @b IV D. L, IIT wmmio IV

Which of the following are Government measures to deal with uncertainty in agriculture
I. Guaranteed agricultural prices

II. Buffer stock schemes

III. Crop insurance

IV. Foreign direct investment in agriculture

A.Tand II B. I, Il and III

C.LLIIand IV D.L Illand IV
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191. &eail Oswarais 6Teng SHaudHL LWeTLGHBS!
A. G5 W sumoTandHend WHIIH CFileusBE LwsTLUBBBS!
B. sumoren u@jeflev gimsHSTDene 0HNTH CF i uwsTuGHBE!
C. Bauamsvuisvevr Hlemsvemil LOHNT(H ClF i uwsTLBGBBS!
D. aul L1y ggmmsHamipsneu 0SB Gauiw uwieuGama
Gini coefficient is used to estimate
A. National Income
B. Inequality in income distribution
C. Unemployment
D. Regional unbalance

192. BPpdoHewiLsTyemihibenTey ShHwiTelen GFLOLIL clHHID GHenmeuTd 2 _6iT6eNgH

1. &9BHSH SH60T QUHLOTENID

2. Qurgis giempuis GFLONTs G&Henmbe LkIG

3. ®®Ibus Hiemmuiev GFIONT6T GHmBHD LkIG

4. Symotr yphiseisi GaLOlILg Hmsi (P(IYEMOWITS SIFL L TEnLD

A. 1, 2 ommib 4 4

B. 1, 2 wmyib 3 &

C. 1,2, 3 wmyib 4 s

D. 1, 3, 4 &

The rate of saving is low in India for the following reason
1. Low per capita Income

2. Poor performance and less contribution of public sector
3. Poor contribution of Household sector

4. Savings potential of the rural sector not tapped fully
A.1, 2,4 are correct

B.1, 2 and 3 are correct

C.1, 2,3 and 4 are correct

D. 1, 3 and 4 are correct

193. uelsHCameuenmev CHTBHIILL L WHIB6O HMUFH WTj?
A. Om6erev SGeVHSTEILT CemyTed

B. Oeyev Gewriug®

C. Oxay6v GodaT66

D. Oxgevryev eurt_Fedr

Which English General was defeated by Pulithevan?
A. General Alexander Heran

B. General shephered

C. General MaCalay

D. General Watson

MOCK TEST NO. 1

194. oecuuTm SIHMBTL.  UTIDHMBUTD @ouelt CuF CoucrBOL6 eueTEHEUT FnBBBTI? 61D FaBDI

Ffwimeng)?
Rl GFTev6en 2 6oL 60T FnmIeudsH BIMID

ONZ >

Rl CFTBaeeT SmUIBITsID E6TUHSHHLD
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According to Valluvar, in which way, a man should speak in day to day life? Which statement
is correct?
A. Sweet speech with cheerful countenance
B. To say disagreeable things when agreeable are at hand, is like eating unripe fruit when there is
ripe
C. When does he use harsh words who sees the pleasure which sweet speech gives
D. Sweet speech will give pleasure both in this world and in the next

195. yeie @ymoedhsfen Smenewt elehiB CHTLUTH SHenenm QLD UITS CBTETIQMHHHHI?

A. 200 61608 HHGHSH B. Gzemeu

C. InmebE 2_5H6H6e0 D. su6imo@pul g@emiotiun®
St. Ramalingar concept of Karunai was based on the concept of?

A. Idea of peace B. Service

C. Help to others D. The unity of mankind

196. HOpETH Weld o @I IBHI MDD CGHTLHRISIULL 6IHLLID?
Transplant Authority of Tamil Nadu (TRANSTAN) was created in the year?
A. 2014 B. 2018

C. 2016 D. 2019

197. demeummeuenieuBmien 61bd G HyTei b GBULUSDT SIp euyTEHI?

A. wryeur B. Gsmmr

C. uLrar D. seieyf

Out of the following, which group does not fall under the category of Dravidian Family?
A. Yarava B. Kota

C. Badaga D. Kanauri

198. apsdaminy Cury wrmemLw U § SHTe0HH60 HenL CUBBEHI?

A. Ggeuiu prwbsf B. Smoemev pruidbas)

C. Qardhsprs BTUIGSD] D. gremfiomisibiomsit

The war of Noses took place during the reign of?

A. Sevappa Nayak B. Thirumalai Nayak
C. Chokkanatha Nayak D. Ranimangammal
199. gh® BM60HH6V, 61bH R GHev Gymomefil BHrewTLIhIB6T HerBLilgdslul L &7
A. UHFFHEOT B. 91flesto®

C. Qs D. yary

During the Sangam age, in which place Roman coins were minted?

A. Adichanallur B. Arikkamedu

C. Korkai D. Puhar

200. &®.149. 470-b yemiB HboTEWT SHITENL FhiBD 6MHIG BHBeUluLgl?

A. &repFyyd B. Ay S

C. eow@j D. gieny

Which place the Dravida Sangha of Deccan was founded in the year 470 A.D?
A. Kanchipuram B. Brahma giri

C. Mysore D. Madurai
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